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No. of Questions : 50
gl #r deAr : 50

Time : 2 Hours Full Marks : 200
|qug ;2 gue goifs : 200

Note: (1)

(2)

(3)

Th1s Questlon Booklet contains 40 Multiple Choice Questmns
followed by 10 Short Answer Questions.

T 9v IR § 40 agie 9 10 9y IO g9 ¥

Attempt as many MCQs as you can. Each MCQ carries 3 (Three)
marks. 1 (One) mark will be deducted for each incorrect answer.
Zero mark will be awarded for each unattempted question. If
more than one alternative answers of MCQs seem to be
approximate to the correct answer, choose the closest one.

eﬂw&ma@ﬁwgﬁaﬁwaﬂﬁwmaﬁtma@m
qg 3 (<) sit &1 B 9% e SR B RT 1 (TH) iw
HIET ST | T ST WS B NS LI BN AR
agjfe 9l B Twis diar SaX ¥ S @ e ada
&, a1 Fepeay aEt Sar ¥

Answer only § Short Answer Questions. Each question carries
16 (Sixteen) marks and should be answered in 150-200 words."
Blank § (Five) pages attached with this booklet shall only be
used for the purpose. Answer each question on separate page,
after writing Question No.

Paw 5 (dF=) TgSEOT N B I@T T 1 TAB I 16 (SE)
B P B TUT ITHT IX 150-200 TEf F &g ST =R
g e g@ gicsr & @9 gu 9 5 (d9fE) gt @1 & IuEnT
AETF B | TAF 997 FH I@X TF < S H, U9 T forgsy

L& |

3 P.T.O.
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01.

Who is the Commerce Minister of India ?
(1) M. Venkaiah Naidu (2) Dharmendra Praﬁhan

(3) Nirmala Sitharaman (4) Piyush Goyal
R B iy w3l P B 7
(1) o &Py T@g (2) uHvE g
(3) foelem Waroror (4) daw M
, Who gave ihe theory of surplus value ? i
(1) Max Waber (2) Karl Marx (3) Kant (4)! Durkheim
(1) ¥FF aqX  (2) @ 999 (3) FiE (4)@ g

Who wrote the book "An Enquiry into the Nature and Causes of Wealth
of Nations" ? |

(1) Adam Smith (2) Alfred Marshall
(3) A.C. Pigou (4) L. Robbins |

(1) =" fEg (2) oTEHE At

(3) T.&. 9y (4) Twa. o

Which one of the following is the period of 12™ Five YearéPlan ?
(1) 2012 -2017 (2) 2011- 2016 |

(3) 2013-2018 (4) 2010- 2015 |
Freiffae & § @o-@ sl 1241 deedta Qo #1 3 ?
(1) 20129 2017 (2) 20118 2016

(3) 20139 2018 (4) 2010® 2015

Who is regarded as the Father of Sociology ? _

(1) Auguste Comte .= . (2) Herbert Spencer

(3) Emile Durkheim (4) Max Waber



o7.

08.

09,
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SIS & 591 (6 |IFT oIen 8 7

(1) STTRT H2 (2) EET W

(3) IR @MW (4) BFE FET

Who is the author of "Modernization of Indian Traditions" ?
(1) A.R. Desai (2) Yogendra Singh
(8} T.K. Oommen . (4) Andre Beteille
‘AT ol £fTw RR¥EE B AESH B & 7

(1) T. AR. 2418 (2) IrreE e

3) . . FHA (4) o= o

Who gave the concept of "Sanskritization" ?

(1) T.K. Oommen (2) A.R. Desai

(3) M.N. Sreenivas (4) Dipankar Gupta
‘oI (EreegfrnTer) H SFayrRen fRER & 7

(1) A. . FHA (2) T.TX. IR

(3) wH. uH. AffEE (4) Raiwz qar

Who gave the theory of 'circulation of elites' ?

(1) Spencer ' (2) Kingsley Davis

(3) Max Waber (4) Pareto

‘it aRwEor B Ry R Rar ?

(1) &6 (2) Rraa 3

3) T =} (4) TR

The scientific study of human experience and behaviour is called :
(1) Anthropology | (2) Sociology

(3) Psychology (4) Political Science
A TN U1 FAE N ATG AT HEN ST B
(1) HAFEGAA (2) W ' '
(3) wAfmm= (4) TETIRY SmTER

5 P.T.O.
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10.

11.

13.

13.

Which one of the following is net associated with Panchayatl Raj in
India ?

(1) Asoka Mehta Committee

(2) Dinesh Goswami Committee
(3) L.M. Sienghvi Committee

(4) Balwant Ray Mehta Committee

ﬁwﬁlﬁmﬂ%ﬁﬂwmﬁwmﬁmamﬁmﬁ%?

(1) M= Away GfHfy 2 Ry Nearh afyfy

(3) w.ow.Riwd affa 4) sEE= X A Slialo
Which of the following is mot a “micro" factor of business environment ?
(1) Suppliers : . (2) Customers

(3) Globalization (4) Business mtermedlartes

il ¥ P w93 W @fte gew Td4t B

(1) iR (2) uE®H
(3) Hﬁ‘?‘ﬁw %) mﬁm

Which of the followmg docs not come in the purview of “ﬁsaal policy"?
(1) ' Taxation e -

(2) Public debt

(3) Public expenditure

(4) Development of money market
W%%Wﬁa%%mﬁﬂa%mﬁﬁm&%?
(1) = | 2) e H

(3) < == (4) T&T TR F\ ﬁ?ﬁfﬂ

The ultimate objective of the human relations movement 1$ to:
(1) make workers happy

(2) enhance organizational success by building appropr:ate
relationships

(3) develop the contingency view of management
(4) view every organization as an open system
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14,

18,

16.

qdE e TS I SR I8 E

(1) wrEeaedl @ g @ R

2) Wwﬁﬁ%%wwmwﬁqﬁm
() useE B SmEHRar B R HE - )

@) S&F SIS B G TR B € F I@W

Which one of the following does not belong to '.the category of absolute
standard methods of performance appraisal ?

(1) Checklist appraisal method  (2) Individual ranking method

(3) Forced choice appraisal (4) Critical incident appraisal
mgﬁﬁﬂwﬁiﬁ%@mﬁﬁ@ﬁfaﬁaﬂﬁﬁaﬁ
-SHTET 7

(1) e gen aen R @) =t Sefer fBfy

(3) @i avor e 4) Proftas geT e

Who among the following described stress as non-specific response '
of the body system ?

(1) - Cannon (2) Selye

(3) Lazarus (4) Dollar and Millar

ﬁﬁ@rﬁﬁéﬁmﬁﬂrﬂﬁ?ﬁqﬁﬁwqmmﬁmwéw
# frafa fFar ? |

(1) & @ ¥
(3) WSIRH (4) TWRX W A

An organization that emphasizes systematic problem ‘solving,
experimenting with new ideas, and learning from past experiences

~ and the experiences of others is referred to as :

(1) learning organization
(2) college |
(3) integrated organization

(4) socially responsible organization

7 P.T.O.
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I8,

@Wﬁmﬁaamﬁmqwmam%ﬁﬁmﬁamm
mﬁ,w_aw%m%wm%mﬁ@@m%

(1) et awr dresy ) oy =

() wARE Wy (&) I Rt o e
If an outcome is contingent on the act of employees, it is fsaid to be
related to ; -

(1) S-R learning (2) conditioning

(3) operant cdnditioning (4) model learning |
mwmﬁarﬂ%mwwﬁvmmﬁﬁm%eﬁuzmﬁ3~
(1) -3 @ (2) FraRiT

Q) ST HhERE (4) wrEw ik

other dimension ?

(1) Employee-orientation (2) Empathy
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19

20.

- support by involving him or her in decision making ?

Which of the following types of power is most llkely to be negatively

5 related to employee satisfaction and commitment ?

(1) Expert power (2) Reward power

(3} Legitimate power (4) Coercive power
;-wm@m%mﬁwﬁmamm
PR W B ¥

(1) fdem et () uReYs SR

(3) Amf STUSR (4) udes AfBR

Which of the following power tactics involves increasing the target's

(1) Legitimacy (2) Rational persuasion
 (3) Consultation (4) Ingratiation

g ¥ Be-ar AR gRE, aﬁzﬂﬁé”aﬁﬁvhaﬁaﬁm
_ﬁmﬁwﬁmﬁmmwm%?

f(l) deniferenett . (2) THETT AT

(3) wEd (4) IgEE aaw

A manager is provided a description of organizational problems to
diagnose and solve them. It is an example of:

(1) role playing (2) case study

(3) off-the-job training (4) management game

Wﬁmmﬁa&ﬁﬁaaﬁmmﬁﬁmﬂ
@W%@aﬁmm%wm% |

OB GRS
(@ 9 S
() IE & - e (St A ST H AT

(@) 3ot ™

9 P.T.O.
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22.

23.

24,

When data are collected in a statistical study for only:r a portion or
subset of all elements of interest we are using:
(1) a samﬁle_ . - (2) a parameter l
(3) astatistic R population . _
w9 ‘ol ol gele @ TR AT A1 w96 (B |ivemyg
ST ¥Y o I (M) HaRee H &, & 5 aEi e ¥ -
(1) @& &g - @) W

() = RiRkegfes 4) ©F qgdET

Which of the following is not the goal of descript_ive stati:s_tics ?

(1) Summarizing data |

(2) Displaying aspects of the collected data
(3) Reporting numerical findings | |
(4) Estimating characteristics of the population

ﬁw-'ﬂéaﬁqavﬁﬂmmammﬂﬁ%?

(1) ¥ = wftrefiepor
(2) W 2w B ey N geRi s |
3) wEarTE frepd 5 RAF w5y

4) W%W@MWIWW

A time series is :

(1) a set of measufemcnts on a variable collected at thé same time
or approximately the same period of time

(2) asetof measurements on a variable taken over some time period
in sequential order '

(3) a model that attempts to analyze the relationship:between a
dependent variable and one or more independent variables

(4} a model that attempts to forecast the future value of a variable

10
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g WieT ®

(1) =X 9 A9 & UH A A qT & O & qHG GIET Rear w4
8 a1 Hh9-Hae T & oy ¥ Sydia fear mar @

() Wg%ﬂ@%ﬁ%m@ﬁmmﬁm
gy

3) Q%&mmﬁaﬁwmmwmsﬂﬁammamﬁ
gt 7 RIsdwer sear B

@ @WW@?%WWWWW%

Which of the four time series components is more likely to exhibit
the relative steady growth of the population of Japan from 1964 to
2014 ?

_(1) Trend component (2) Cyclical component

(3) Seasonal component (4) Irregular component

frsr g T @ A9 g9 @18 HRT 1964 § 2014 a% e &
oy Rekes soHed sgad goflia & 8 7

(1) = FA=< | ) SIEC AN LT & ek

() d9EE FFRT (4) FTERR A=<

Which of the following is not an advantage of oral communication ?
(1) Itiseasytouse

(2) Itisaccurate

(3) It facilitates feedback

(4) It can be done with little preparation

P & § B9 DRgw HaR & HEw @ 8 7

(1) SQ T4 HIAT AEH

(2) @& TFHE

3) zrsnﬁfg&:irﬂm%
@) TE 9 qard @ @ S e o wwar &

11 ' P.T.O.
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27,

29,

Body language verbal intonation, the size of an office, and the clothes
that are worn are all examples of :

(1) feedback . . (2) noise
(3) body language (4) nonverbal commtlmmatlon

Conceptual skills relate to a manager s ability to ;

(1) take a strateglc view of how the part of the orgamzatlcm function
(2) solve detailed problems in groups |

(3) correctly evaluate organizational problems

(4) understand and interact effectively with others in the
organization

HHTTITS T, ﬁ%mqﬁﬁwﬂ‘ﬁﬁwm&mﬁm%
(1) e fygw =& e

(2) "9E & awwel o fam

() T % Tl B a9 gwiey .

4) Wﬁm@wam"@wﬁwm

In which of the following condmons the managers will be moz*e mformal

“and engaged in personal management by walking around ?

(1) Greater the degree of decentrahzatxon
(2) Greater the degree of centralization
(3) Smaller the orgamzatlon

(4) Smaller the span of control

12
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3.

31.

Pret & @ Rrg qRRYRY T AR # sgrar saeies w@ gra-fea
g R sEua & fre e e |
(1) Somr R @ T ST

]

(3) ®er '@ @) Fw B e

According to Mintzberg's classification of managerial roles, whoseé role
is to make or approve significant organizational decisions and assign
human, physical, and' monetary assets ? '

(1) Disseminator (2) Liaison

(3)' Entrepreneur (4) Resource allocator
mmﬁmmwﬁﬁmﬁaﬁaﬁﬂm%ﬁaﬁww
() AR (wERH) 00 () TR -
() FRIRR (SBHEHH) @) A" e

What is the difference hetween research question and research
objectives ? ) | | ’

(1) The wording of one is likely to be more specific than the other
(2) The question is worded by the researcher, the objective is not
(3) No difference, they are the same ' | |

(4) One of these is proposed by a supervisor
a@muw@aﬁm@wﬂww% P

(1) uF B oeT gEX Q o fame ® O

@) 9wt @ SFTEGETR RrEd B, o899 @ T

13 - P.T.O.
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32.

What error may occur when research subjects are affﬁcted by the
researcher ? ' '

(1) Reactivity (2) Observer effect |

(3) Subject error (4) Time error |
PR STIRATT P R srgeturwet s @ § 6 g drw &
e ¥ ? .
(1) Rofpefrd (F5aRer) (2) TESER g
(3) Ry g @) w9 Qg
- According to the job characteristics model, task sigﬁiﬁe@ance is the

degree to which :

' (1) ajob bears an impact on the lives or work other people

(2) a job generates direct and clear information about pbrformance

(3) a job provides the ‘'worker freedom in schedulmg work and
- determining its procedure -

(4) a job requires completion of a whole andg 1dent1ﬁablc piece of
work

mﬁmam(mm)%mwﬁﬂﬁﬂﬁw%ﬁs
e Rafy o=

(1) mﬁvﬁ%ﬁaﬂ@mw%ﬂmw%

©) wﬂaﬁﬁmm(vmﬂw)%gﬁ?ﬂrmqam@mm
B aech R

14 3
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34, Trait theories of leadership focus on:

~ 88.

36.

(1) the special relationship that leaders establish with a:small group

of their followers

(2) the personal qualities and characteristics that dxfferentxate leaders
. from nonleaders . .

(3) ' the way the leader make decisions

(4) the extent to which followers are willing and able to accomphsh
a specific task

ﬁqa%athamq—ﬁwm%

(N mﬁ@%axg%a@aﬁ%mﬁmaﬂf&ma@am

) . @aﬁﬁﬁﬁwwmﬁwﬁﬁmaﬁm(ﬁwﬁ)ﬁm
HET B - |

3) ﬁm%ﬁrﬁaaﬁmaﬁzﬁr

Q) Wmﬁmﬁ?@maﬁwﬁaaﬁﬁ%

Which of the following Big Five personality traits has been identified
as the most important trait in effective leaders ?

(1) Conscientiousness (2) Openness
(3) Extraversion (4) Agrecableness

Brer § § @ <2 dfe Rk 3T (W/ﬁ‘rs‘rqgw)ma’rﬁqa
¥ Rftea B W B 7

(1) 3 REmfaarn (2) AT
(3) wEREETHEH - (4) aqg@an

The three activities in an information system that produce information
that organizations use to control operations are: - :

[1] information retrieval, research and analys1s
(2) input, output, and feedback

(3) input, processing and output

{(4) data analysis, processing, and feedback

18 o P.T.O.
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37.

ﬁwﬁa%&nﬁﬁﬁﬁﬁﬁmﬁmmaﬁﬁ%eﬁr
WWW@WW#WW%B%

() T Raw, Red o tnfolg B
(@) §Ye, oTSTYE wH sl |
G) g, DRI wF ey o
(@) 3= YRR, AR oF el

Converting raw data into a more meamngful form is called :

(1) Capturing - (2) Processmg

(3) Organizing (4) Feedback

X (=) Ber B v qorief onf A awey @ wER B
(1) Fafar (2) SrarET

(3) SR @) HEE

Data management technology consists of the :

(1) software governing the organization of data on physzcal storage
media ’

(2) detailed, preprogrammed 1nstructmns that coqtrol and
coordinate the computer hardware components in an mformatlon
system _ '

(3) physical hardware and media used by an organization fbr storing
data C

(4) hardware and software used to transfer data

16
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39.

ar Aorite JpaTarel & Sem B o
(1) ﬁsﬁm@iﬁmw%aaﬁﬁmﬁm T IS gl
greday

@) mmﬁwmﬁmﬂﬁrmm
3) éa@ﬂw%gwm%amﬁaﬁmﬁﬁsmaaﬁmw

(4)_%Erﬁaq,—(ggwﬂmm, XI5

According to which view of conflict, conflict can be a positive force in a
group and some conflict is absolutely necéssary for a‘group to perform
effectively. S

(1) Resolution focused (2) Traditional

(3) Managed (4) Interactionist
gﬁ(ﬂﬁﬁﬁﬁ)%mﬁaﬂﬂmﬁ—ﬁawﬁmaﬁam
% ofix frelt go @ SR B9 @ @ F F R HB && B
JELIF B | |
(1) Releges BFs @) FET

(3) ¥os (4) SASNTHRATE

In which type of organizations, the lack of frequent face-to-face contact -
makes the establishment of a common set of norms very difficult ?

(1) Highly formalized (2) Functional

(3) Virtual ' '(4) Matrix -

fFe 9 & oA H S-S, ATA-GHT FHl G H QAT g
e BT & 7 . |
(1) =g S SIS (2) ST

(3) TG (4) Afger

17 P.T.O.
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Short Answer Questions
. g ITHT geT

Note : Attempt any five questions. Write answer in 150-200 iwords. Each
question carries 16 marks. Answer each question on separate page,
after writing Question Number. ' !

mﬁM%wmlmww'wo&oomﬁ
T | 0% g 16 3l &1 ¥ | 5 H9 B IER T U 1

1. Discuss the salicnt-'manifc‘tations of globalization of ‘qiusiness.

=R & grswhamtr & gqe et ot wet w5

2. Briefly describe the social responsibilities of business.é

W%Wﬁlﬂamﬁﬁﬁﬁﬁmﬂﬂhﬁﬁl

3. Describe the salient features of mixed economy.

P srefemerear 3 s @Y w5 ol @Y

4. Enumerate the challenges for HR managers posed by glipbalization
of business. ?

w%-mﬁmﬁm-wmémamaﬁ
AT Y | |

5. Describe any three goals of human resource planning,

mmm%wmw@mmﬁ:

6. Mention any three defining features of organizational c;limatc.

mwéwmnﬁwaﬂvﬁwmﬁt

18
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10.

Explain the basic assumptions of HRD,

Wﬂwmﬂégﬁwmﬁaﬁmﬁn

"India has.good scope for introducing HRD mechanism”. Comment.

Wﬁnﬁammw%gﬂwmmﬁw

5 ¥ -Rooft HX | | o
Enumerate the OD interventions that help clarify the roles in the
teams. | kRS

aﬁaﬁﬁﬁmﬁaﬁmmﬁﬁﬂmmm@rﬁﬁmfﬁn

What are the non-probability sampling methods ? Describe.
a’lm’é#@?ﬁﬁmﬁfﬂﬁfﬁ?ﬁaﬁ?{vﬁﬂ?ﬁ% ? qotq = |

19 100
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Question No. Page for 8hort Answer
N ey _

g ST R R gss

20
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Question No. Page for Short Answer
T Hemrm 0 0 wyoolw B Ruogs

21 P.T.O.
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Question No. Page for Short Answer
U e - WY Sl B R ys
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Question No. | Page for Short Answer
g9 Heen wg SeiE & R g
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11.

12.
13.
14.

Feafaa & ferg o
(¥ GIR®T & F9% AT 8 9T A% IV-0F & A g 4v
&aer Fiof-wrefl aver-vange 97 @ § @)

7o Yae fem % 10 fee & o7t & 2w & i s § §ef g Aig € otk @
T T 8 &1 [ Q9 TR S T SER GEAT kel we- e @ e avo
AT & gEl JEw e Wl

R wa # e vw wdv-gx & siffiw, f@ 1 W A S gen SO W
¥ 7 @l

3w-ux SrerT § Ry mar 41 yR T @y Ak 7 8 g w1 T - aw T8 Rear s
HAT IvT-0F FT ¥ FEATET A )
mwwm—wmmmmww&aﬁﬁuﬁﬁwmml

INT-0% & WA g 9 OF ¥ J9a7 Igwere i e ot e wer v @d get &)
gy & &1 ogl-orgl ey gt ayl w9 giAwT ® wwiE way G2 H TAT Iew w@r)
qv oret)

o Qo HMe UF YT JITWAIH WEA, WPTYRAET WA ¥ §T WOAT (W &Y B) Aar
XPGIrST O SqHAE AW Fo Yo Fo TN wew i sl ¥ sufiveT H1 agRfy
L8 1

mmﬂ?#ﬁiwman%wwﬁﬂwmmmmmw uw sfem
QIS HT XQPT AAT W@ -

wv7- gt & weiws 7y & wre dwieaw 3T fad i ¥ v wyT & dw0w I & g
STt IeT- 0N W WAl gfew & v A9 M gw H Iww-0w & vow ¢S 9T 74 ™R
M & aqar v d e

TRI% 99 & W & Y Fa0 0 @ 39 H M R T F 3w g6 B MR w3
T YA TH § & AU WA W T¢ W Terd WA A3

s % uw av @t g St 3w agen 97 W wwar #1 QiF I et 5 &1 Iy
797 g1 e ¥, o watkny qfEy & wre R md vt gw & wet ey 31 38 Fv T o
3% 139 ot

 FE & T TeR-gRm & TETS & et AT Um au Sw-gR & oiftm g
& ¥4 &)

qheT & ST Fae ot U Y INT-9¥ O AT F I a2

T WA B/ TER q0e e | X IR H oAt A @

7fE Fe el wlien § sfam weet & wam W 8, @ 9% freafoes g7 fyita
<E F/E, et gm/gnt



